

Xiaowei Pan; Wenpeng Zhang
On Lehmer's problem and Dedekind sums

Czechoslovak Mathematical Journal, Vol. 61 (2011), No. 4, 909–916

Persistent URL: <http://dml.cz/dmlcz/141796>

Terms of use:

© Institute of Mathematics AS CR, 2011

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

ON LEHMER'S PROBLEM AND DEDEKIND SUMS

XIAOWEI PAN, WENPENG ZHANG, Xi'an

(Received May 31, 2010)

Abstract. Let p be an odd prime and c a fixed integer with $(c, p) = 1$. For each integer a with $1 \leq a \leq p - 1$, it is clear that there exists one and only one b with $0 \leq b \leq p - 1$ such that $ab \equiv c \pmod{p}$. Let $N(c, p)$ denote the number of all solutions of the congruence equation $ab \equiv c \pmod{p}$ for $1 \leq a, b \leq p - 1$ in which a and \bar{b} are of opposite parity, where \bar{b} is defined by the congruence equation $b\bar{b} \equiv 1 \pmod{p}$. The main purpose of this paper is to use the properties of Dedekind sums and the mean value theorem for Dirichlet L -functions to study the hybrid mean value problem involving $N(c, p) - \frac{1}{2}\varphi(p)$ and the Dedekind sums $S(c, p)$, and to establish a sharp asymptotic formula for it.

Keywords: Lehmer's problem, error term, Dedekind sums, hybrid mean value, asymptotic formula

MSC 2010: 11L40, 11F20

1. INTRODUCTION

Let p be an odd prime and c be a fixed integer with $(c, p) = 1$. For each integer a with $1 \leq a \leq p - 1$, it is clear that there exists one and only one b with $0 \leq b \leq p - 1$ such that $ab \equiv c \pmod{p}$. Let $M(c, p)$ denote the number of cases in which a and b are of opposite parity. In [4], Professor D. H. Lehmer encouraged the authors to study $M(1, p)$ or at least to say something nontrivial about it. It is known that $M(1, p) \equiv 2$ or $0 \pmod{4}$ when $p \equiv \pm 1 \pmod{4}$. For general odd number $q \geq 3$, Zhang Wenpeng [10] studied the asymptotic properties of $M(1, q)$, and obtained a sharp asymptotic formula

$$M(1, q) = \frac{1}{2}\varphi(q) + O(q^{\frac{1}{2}}d^2(q)\ln^2 q),$$

where $\varphi(q)$ denotes the Euler function, and $d(q)$ is the number of divisors of q .

This work is supported by the N.S.F. (11071194) of P.R. China, Scientific Research Program Funded by Shaanxi Provincial Education Department (2010JK802), Scientific Research Program Funded by Xi'an Medical University (10FC027).

Zhang Wenpeng [9] also studied the asymptotic properties of the mean square value of the error term $M(a, p) - \frac{1}{2}(p - 1)$, and gave the asymptotic formula

$$\sum_{a=1}^{p-1} \left(M(a, p) - \frac{p-1}{2} \right)^2 = \frac{3}{4}p^2 + O\left(p \exp\left(\frac{3 \ln p}{\ln \ln p}\right)\right).$$

Now, let p be an odd prime, c any integer with $(c, p) = 1$, $N(c, p)$ the number of pairs of integers a, b with $ab \equiv c \pmod{p}$ for $1 \leq a, b \leq p - 1$ in which a and \bar{b} are of opposite parity, and

$$E(c, p) = N(c, p) - \frac{p-1}{2}.$$

In this paper, we find that there are some close relations between $E(c, p)$ and the classical Dedekind sums, which are defined by

$$S(h, q) = \sum_{a=1}^q \left(\left(\frac{a}{q} \right) \right) \left(\left(\frac{ah}{q} \right) \right),$$

where

$$\left((x) \right) = \begin{cases} x - [x] - \frac{1}{2}, & \text{if } x \text{ is not an integer;} \\ 0, & \text{if } x \text{ is an integer.} \end{cases}$$

Several authors have studied various properties of $S(h, k)$, namely, L. Carlitz [2], J. B. Conrey *et al.* [3], Jia Chaohua [5], and Wenpeng Zhang [8]. For example, Wenpeng Zhang [8] proved the asymptotic formula

$$\begin{aligned} \sum_{h=1}^k |S(h, k)|^2 &= \frac{5}{144} k \varphi(k) \cdot \prod_{p^\alpha \parallel k} \left(\left(1 + \frac{1}{p}\right)^2 - \frac{1}{p^{3\alpha+1}} \right) / \prod_{p|k} \left(1 + \frac{1}{p} + \frac{1}{p^2}\right) \\ &+ O\left(k \exp\left(\frac{4 \ln k}{\ln \ln k}\right)\right), \end{aligned}$$

where $p^\alpha \parallel k$ denotes that p^α divides k , and $p^{\alpha+1}$ does not divide k .

In this paper, we consider the following hybrid mean value problem related to the error term $N(c, p)$ and the Dedekind sums:

$$(1) \quad \sum_{c=1}^{p-1} E(c, p) S(c, p).$$

Concerning this mean value, it seems that no one had studied it yet, at least we have not seen any related result before. In this paper, we use the properties of character sums and the analytic method to study the asymptotic properties of (1), and obtain the following two conclusions:

Theorem 1. For any prime $p \geq 3$, we have the asymptotic formula

$$\sum_{c=1}^{p-1} E(c, p)S(c, p) = -\frac{1}{8}p^2 + O\left(p \cdot \exp\left(\frac{4 \ln p}{\ln \ln p}\right)\right),$$

where $\exp(y) = e^y$.

Theorem 2. For any prime $p \geq 3$, we have the asymptotic formula

$$\sum_{c=1}^{p-1} E^2(c, p) = \frac{3}{4}p^2 + O\left(p \cdot \exp\left(\frac{5 \ln p}{\ln \ln p}\right)\right).$$

As an application of our method, we can also give a series identity for the mean square value of the Dirichlet L -function. For example, we have

Corollary 1. For any odd prime p , we have the identity

$$\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(2)|L(1, \chi)|^2 = \frac{\pi^2}{24} \cdot \frac{(p-1)^2(p-5)}{p^2}.$$

Corollary 2. Let $p \geq 3$ be an odd prime, then we have the identities

$$\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(4)|L(1, \chi)|^2 = \frac{\pi^2}{48} \cdot \frac{(p-1)^2(p-17)}{p^2},$$

if $p \equiv 1 \pmod{4}$;

$$\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(4)|L(1, \chi)|^2 = \frac{\pi^2}{48} \cdot \frac{(p-1)(p^2 - 6p + 17)}{p^2},$$

if $p \equiv 3 \pmod{4}$.

It is very interesting that the value of the mean value $\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(4)|L(1, \chi)|^2$ depends on the congruence $p \equiv 1$ or $-1 \pmod{4}$.

2. SEVERAL LEMMAS

To prove our theorems, we will make use of the following lemmas.

Lemma 1. *Let χ be a primitive character modulo m with $\chi(-1) = -1$. Then we have*

$$\frac{1}{m} \sum_{b=1}^m b\chi(b) = \frac{i}{\pi} \tau(\chi) L(1, \bar{\chi}),$$

where $\tau(\chi)$ is the Gaussian sum associated with χ , $e(y) = e^{2\pi iy}$, and $L(1, \chi)$ denotes the Dirichlet L -function corresponding to χ .

Proof. This can be easily deduce from Theorems 12.11 and 12.20 in [1]. □

Lemma 2. *Let $q \geq 3$ be an odd number. For any nonprincipal character $\chi \pmod{q}$, we have*

$$\frac{1}{q} \sum_{a=1}^q a\chi(a) = \frac{\chi(2)}{1 - 2\chi(2)} \sum_{a=1}^{\frac{q-1}{2}} \chi(a).$$

Proof. See Lemma 1.5 in [6]. □

Lemma 3. *Let p be an odd prime. For any integer c with $(c, p) = 1$, we have the identity*

$$E(c, p) = -\frac{2p}{\pi^2(p-1)} \sum_{\substack{\chi \pmod{p} \\ \chi(-1) = -1}} \bar{\chi}(c) |1 - 2\chi(2)|^2 \cdot |L(1, \chi)|^2.$$

Proof. From the orthogonality relation for character sums modulo p and the definition of $N(c, p)$ we have

$$\begin{aligned} (2) \quad N(c, p) &= \frac{1}{2} \sum_{\substack{a=1 \\ ab \equiv c(p)}}^{p-1} \sum_{b=1}^{p-1} (1 - (-1)^{a+\bar{b}}) = \frac{1}{2} \varphi(p) - \frac{1}{2} \sum_{\substack{a=1 \\ ab \equiv c(p)}}^{p-1} \sum_{b=1}^{p-1} (-1)^{a+\bar{b}} \\ &= \frac{p-1}{2} - \frac{1}{2(p-1)} \sum_{\chi \pmod{p}} \bar{\chi}(c) \sum_{a=1}^{p-1} (-1)^a \chi(a) \sum_{\substack{b=1 \\ ab \equiv c(p)}}^{p-1} (-1)^{\bar{b}} \chi(b) \\ &= \frac{p-1}{2} - \frac{1}{2(p-1)} \sum_{\chi \pmod{p}} \bar{\chi}(c) \sum_{a=1}^{p-1} (-1)^a \chi(a) \sum_{b=1}^{p-1} (-1)^b \chi(b) \\ &= \frac{p-1}{2} - \frac{1}{2(p-1)} \sum_{\chi \pmod{p}} \bar{\chi}(c) \left| \sum_{a=1}^{p-1} (-1)^a \chi(a) \right|^2. \end{aligned}$$

If $\chi(-1) = 1$, then

$$(3) \quad \sum_{a=1}^{p-1} (-1)^a \chi(a) = 0.$$

If $\chi(-1) = -1$, then

$$(4) \quad \sum_{a=1}^{p-1} (-1)^a \chi(a) = \sum_{a=1}^{\frac{p-1}{2}} \chi(2a) - \sum_{a=1}^{\frac{p-1}{2}} \chi(p-2a) = 2\chi(2) \sum_{a=1}^{\frac{p-1}{2}} \chi(a).$$

Combining (2), (3), (4), and applying Lemmas 1 and 2, we obtain

$$N(c, p) = \frac{p-1}{2} - \frac{2p}{\pi^2(p-1)} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \bar{\chi}(c) |1 - 2\chi(2)|^2 \cdot |L(1, \chi)|^2.$$

Hence

$$E(c, p) = -\frac{2p}{\pi^2(p-1)} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \bar{\chi}(c) |1 - 2\chi(2)|^2 \cdot |L(1, \chi)|^2.$$

This completes the proof of Lemma 3. □

Lemma 4. *Let $q \geq 3$ be a positive integer. Then for any integer c with $(c, q) = 1$, we have the identity*

$$S(c, q) = \frac{1}{\pi^2 q} \sum_{d|q} \frac{d^2}{\varphi(d)} \sum_{\substack{\chi \bmod d \\ \chi(-1)=-1}} \chi(c) |L(1, \chi)|^2.$$

Proof. See Lemma 2 in [11]. □

Lemma 5. *Let p be a prime, χ a Dirichlet character modulo p , and $m \geq 0$ a fixed integer. Then we have*

$$\sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^m) |L(1, \chi)|^4 = \frac{(3m+5)\pi^4}{72 \cdot 2^{m+1}} p + O\left(\exp\left(\frac{(3+m)\ln p}{\ln \ln p}\right)\right),$$

where $\exp(y) = e^y$.

Proof. See Lemma 6 in [7]. □

3. PROOF OF THE THEOREMS

In this section, we will use the lemmas from Section 2 to prove our theorems. First we prove Theorem 1. For any prime p , Lemmas 3 and 4 and the orthogonality relation for character sums modulo p , yield

$$\begin{aligned}
 (5) \quad & \sum_{c=1}^{p-1} E(c, p) S(c, p) \\
 &= \frac{-2p^2}{\pi^4(p-1)^2} \sum_{c=1}^{p-1} \sum_{\substack{\chi_1 \bmod p \\ \chi_1(-1)=-1}} \sum_{\substack{\chi_2 \bmod p \\ \chi_2(-1)=-1}} \overline{\chi_1}(c) \chi_2(c) |1 - 2\chi_1(2)|^2 \\
 & \qquad \qquad \qquad \times |L(1, \chi_1)|^2 \cdot |L(1, \chi_2)|^2 \\
 &= -\frac{2p^2}{\pi^4(p-1)} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} |1 - 2\chi(2)|^2 \cdot |L(1, \chi)|^4 \\
 &= -\frac{2p^2}{\pi^4(p-1)} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} (1 - 2\chi(2) - 2\overline{\chi}(2) + 4) \cdot |L(1, \chi)|^4 \\
 &= \frac{2p^2}{\pi^4(p-1)} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} (4\chi(2) - 5) \cdot |L(1, \chi)|^4.
 \end{aligned}$$

From Lemma 5 we know that

$$(6) \quad \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} |L(1, \chi)|^4 = \frac{5\pi^4}{144} \cdot p + O\left(\exp\left(\frac{3 \ln p}{\ln \ln p}\right)\right)$$

and

$$(7) \quad \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2) |L(1, \chi)|^4 = \frac{\pi^4}{36} \cdot p + O\left(\exp\left(\frac{4 \ln p}{\ln \ln p}\right)\right).$$

Then combining (5), (6) and (7), and taking into account the asymptotic formula

$$\frac{p^3}{8(1-p)} = -\frac{p^2}{8} + O(p),$$

we immediately deduce that

$$\begin{aligned} \sum_{c=1}^{p-1} E(c, p) S(c, p) &= \frac{2p^2}{\pi^4(p-1)} \left(\sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} (4\chi(2) - 5) |L(1, \chi)|^4 \right) \\ &= -\frac{2p^2}{\pi^4(p-1)} \left[\frac{5^2 \pi^4}{144} \cdot p - \frac{4\pi^4}{36} \cdot p \right] + O\left(p \cdot \exp\left(\frac{4 \ln p}{\ln \ln p}\right)\right) \\ &= -\frac{1}{8} p^2 + O\left(p \cdot \exp\left(\frac{4 \ln p}{\ln \ln p}\right)\right). \end{aligned}$$

This proves Theorem 1.

Now we prove Theorem 2. From the orthogonality relation for character sums modulo p and Lemma 5 we have

$$\begin{aligned} \sum_{c=1}^{p-1} E^2(c, p) &= \frac{4p^2}{\pi^4(p-1)^2} \sum_{c=1}^{p-1} \left(\sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \bar{\chi}(c) |1 - 2\chi(2)|^2 \cdot |L(1, \chi)|^2 \right)^2 \\ &= \frac{4p^2}{\pi^4(p-1)} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} |1 - 2\chi(2)|^4 \cdot |L(1, \chi)|^4 \\ &= \frac{4p^2}{\pi^4(p-1)} \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} (33 - 40\chi(2) + 8\chi(4)) \cdot |L(1, \chi)|^4 \\ &= \frac{4p^2}{\pi^4} \left(33 \cdot \frac{5\pi^4}{144} - 40 \cdot \frac{8\pi^4}{72 \times 4} + 8 \cdot \frac{11\pi^4}{72 \times 8} \right) + O\left(p \cdot \exp\left(\frac{5 \ln p}{\ln \ln p}\right)\right) \\ &= \frac{3}{4} p^2 + O\left(p \cdot \exp\left(\frac{5 \ln p}{\ln \ln p}\right)\right). \end{aligned}$$

This proves Theorem 2.

To prove Corollary 1, note that $E(1, p) = N(1, p) - \frac{1}{2}(p-1) = -\frac{1}{2}(p-1)$ and (see [11])

$$(8) \quad \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} |L(1, \chi)|^2 = \frac{\pi^2}{12} \cdot \frac{(p-1)^2(p-2)}{p^2}.$$

From Lemma 3 we immediately deduce the identity

$$\sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2) |L(1, \chi)|^2 = \frac{\pi^2}{24} \cdot \frac{(p-1)^2(p-5)}{p^2}.$$

Now we prove Corollary 2. Note that $\frac{1}{2}(p+1) = \overline{2}$, $E(\frac{1}{2}(p+1), p) = N(\frac{1}{2}(p+1), p) - \frac{1}{2}(p-1) = \frac{1}{2}(p+1) - \frac{1}{2}(p-1) = 1$ if $p \equiv 3 \pmod{4}$; and $E(\frac{1}{2}(p+1), p) = N(\frac{1}{2}(p+1), p) - \frac{1}{2}(p-1) = \frac{1}{2}(p-1) - \frac{1}{2}(p-1) = 0$ if $p \equiv 1 \pmod{4}$. From (8), Lemma 3 and Corollary 1 we also have

$$\sum_{\substack{\chi \pmod{p} \\ \chi(-1)=-1}} \chi(4)|L(1, \chi)|^2 = \frac{\pi^2}{48} \cdot \frac{(p-1)^2(p-17)}{p^2}$$

if $p \equiv 1 \pmod{4}$;

$$\sum_{\substack{\chi \pmod{p} \\ \chi(-1)=-1}} \chi(4)|L(1, \chi)|^2 = \frac{\pi^2}{48} \cdot \frac{(p-1)(p^2-6p+17)}{p^2}$$

if $p \equiv 3 \pmod{4}$.

This completes the proof of our all conclusions. \square

References

- [1] *T. M. Apostol*: Introduction to Analytic Number Theory. Upgraduate Texts in Mathematics, Springer-Verlag, New York, 1976.
- [2] *L. Carlitz*: The reciprocity theorem for Dedekind sums. *Pac. J. Math.* *3* (1953), 523–527.
- [3] *J. B. Conrey, E. Fransen, R. Klein, C. Scott*: Mean values of Dedekind sums. *J. Number Theory* *56* (1996), 214–226.
- [4] *R. K. Guy*: Unsolved Problems in Number Theory (Second Edition). Unsolved Problems in Intuitive Mathematics 1, Springer-Verlag, New York, 1994.
- [5] *C. H. Jia*: On the mean value of Dedekind sums. *J. Number Theory* *87* (2001), 173–188.
- [6] *Z. F. Xu, W. P. Zhang*: Dirichlet Characters and Their Applications. Science Press, Beijing, 2008. (In Chinese.)
- [7] *Z. F. Xu, W. P. Zhang*: On a problem of D. H. Lehmer over short intervals. *J. Math. Anal. Appl.* *320* (2006), 756–770.
- [8] *W. P. Zhang*: A note on the mean square value of the Dedekind sums. *Acta Math. Hung.* *86* (2000), 275–289.
- [9] *W. P. Zhang*: A problem of D. H. Lehmer and its mean square value formula. *Jap. J. Math.* *29* (2003), 109–116.
- [10] *W. P. Zhang*: On a problem of D. H. Lehmer and its generalization. *Compos. Math.* *86* (1993), 307–316.
- [11] *W. P. Zhang*: On the mean values of Dedekind sums. *J. Théor. Nombres Bordx.* *8* (1996), 429–442.

Authors' addresses: Xiaowei Pan, Wenpeng Zhang, Department of Mathematics, Northwest University, Xi'an, Shaanxi, 710069, P. R. China; Xi'an Medical University, Xi'an, Shaanxi, P. R. China, e-mail: wpzhang@nwu.edu.cn.